Ecosystem

Set—-1

Q1. What does the following diagram represent?
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A. Nitrogen Cycle

B. Decomposition Cycle
C. Mineralisation

D. Energy Flow

Ans. (B)
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Set-2

Q1. What does the following diagram represent?
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Examples

Man, lion

Birds, lishes
woll

Zooplankton, grasshopper
and cow

Phytoplankton, grass, trees
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A. Trophic Levels

B. Energy Cycle

C. Productivity Levels

D. Decomposition levels

Ans. (A)

Set—-3

Ql. What does the following diagram represent?
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A. Trophic Levels

B. Energy Flow

C. Productivity Levels

D. Decomposition levels

Ans. (B)

Set-3

Ql. What does the following diagram represent?

Trophic level Number of individuals
TC [Tertiary consumer) 3

SC (Secondary consumer) 3.54.000

PC (Primarv consumer) 708, 000

P (Producer) ‘ 5,842,000
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A. pyramid of numbers
B. pyramid of biomass
C. pyramid of energy
D. none of the above

Ans. (A)

Q2. What does the following diagram represent?

Trophic level Dry weight (kg m )
TC 1.5
s ‘ 11
PC l 37
= | 809

A. pyramid of numbers
B. pyramid of biomass
C. pyramid of energy
D. none of the above

Ans. (B)

Q3. What does the following diagram represent?
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A. Inverted Biomass Pyramid
B. Inverted Number Pyramid
C. Inverted Energy Pyramid
D. None of the above
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